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Sushil walked 15 metres towards atements to bef;
South, took a left turn and walked even if they §eem to be at varialce
. Read all

20 metres again he took aleftturn  from commenly known fac
and walked 15 metres. How far the conclusions an h*decidc which
and in which direction is he from _ of iven conclisions logically fol-

REASONING 6

1. In a certain code language, 'no
more food' is written as 'ta ka da’
and 'more than that' is written as

'sa pa ka'. How is 'that' written in the starting point ? lo 3 the given ements disre-
that code language ? (1) 20 metrei]est . in® monly kfilown facts.

1) sa (2) 20 metres, East 11. S!:?ements:

(2) ka (3) 50 metre S rme tools are radios.

(3) sa or pa (4) 50 me Some radios are ponds.

(4) Date inadequate
(5} None of these

. In a certain code SHOULDER is
written as VPITQDCK. How is

Some ponds are mirrors.
All mirrors are chalks.
Conclusions:

I. Some mirrors are tools.

MORNINGS written in that code ? Rk ber as II. Some chalks are ponds.
wh anged in

(1) OSPNRFMH de the num- III. Some ponds are tools.

(2) NPSORFMH ber ? IV. Some chalks are radios.

(3) OSPNHMFR (I)None @) / (1) None follows

(4) OSPNSFEM (3) Two @) T (2) Only I follows

(5) None of these

. In a certain code GUEST i 1srwr1
ten as 53@$2 and MEAN is ert
ten as 6@4#. How is SA
ter in that code ?

(1)4$6@

@ 46'
(3) $36@ . (4)

(5) More than thre
How many such
‘are there in theg
CLE each of which has as many
letters between izm in the word
as in the English alphabet ?

12.

(3) Only II follows
(4) Only III follows
(5) Only IV follows
Statements:

All chairs are sofas.
All sofas are books.

(1) None (2) One All books are nets.

(5) i\one of these (3) Two (4) Three All nets are gardens.
. D is brothe M is sister of (5) More than three Conclusions:

K. Ris, the and S is moth- 9. If V means V; '+' means =} '-' I. Some nets are sofas.
er of M jeloted TR means'+' and 'x' means'-'; then II. Some gardens are books.
(1)Son 20-16+4x3 s 2=7? II1. Some nets are chairs.

= 2) Dau ] (1)1e6 (2)30 IV.All books are gardens.
3) Son.gr d 3) 18 (4) 24 (1) Only I, II and HI follow

4) Data mad

5) None of these

fit is possible to make only one
ingful English word with the

ENTIAL, which of the follow-
iflg will be the second letter of
tllat word ? If no such word can

formed give 'X' as the answer

nd if more than one such word
an be formed, give Tas the an-
er.

10.

(5) None of these

Pointing to a boy in a photograph
Sudhir said "He is the son of my
maternal grandfather's only
child". How is the boy related to
Sudhir ?

(1)Self

(2) Brother

(3) Cousin brother

(41 Datainadequate

(5) None of these

Directions (11 - 15): In each of

13.

(2) Only I, III and IV follow
(3) Only II, III and IV follow
(4) AlL I, II, III and IV follow
(5) None of these
Statements:

All monkeys are parrots.
No parrot is crow.

Some crows are horses.

All horses are tigers.
Conch»*ioT>s:

I. Some tigers are parrots.

v

II. k .
S (2) A the questions below are given four state- Som‘e cr?ws are monxeys
3) E (4) X ments followed by four conclusions II. No tiger is parrot.
(51Y numbered I, II, III and IV. You have to IV. Some horses are parrots.
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(1) None follows

(2) Only II follows

(3) Only III follows

(4) Only I follows

(5) Only either I or III follows
14.Statements :

All houses are rooms

All rooms are baskets

All baskets are tyres

Some [tyres are lanterns

Conclusions :
I.Some lanterns Sfelrooms.
II. Some tyres are houses.
III. Some tires are rooms.
IV. All houses are baskets.
(1) Only I, II and III follow
(2) Only II, III and IV follow
(3) Only I, III and IV follow
(4) All I, II, IIT and IV follow
(5) None of these
15. Statements:
Some tractors are buses.
All buses are trains.
Some trains are boats.
All boats are ships.
Conclusions :
I. Some boats are.buses.
II. Some ships are buses.
III. Some trains are tractors.
IV. Some ships are trains.
(1) Only I and II follow
(2) Only I and III follow
(3) Only I and IV follow
(4) Only II and IV follow
(5) None of these
Directions (16- 20)
following arrangemen
answer the questlons el

QR4$3KHI1
8I#TVU%W65B

Study the
y and

16. How ma such nu
there in e above ar}g ment
each efwhich is imme ely fol-
lo b letter but not immedi-

« ately p eded by a letter ?

(I)None ) One
(3) Two ( hree
(5) More th@in thr

17. How many8uch consonants are

there in th|
each of wifich is immediatetely

above arrangement

preceded;by a number and im-

mediatelylfifollowed by a symbol ?
(I)None (2) One

(3) Two (4) Three

(5) Morejthan three

"fs/sym ols mark (5) i.e. 'None ofthese’

18. Which ofthe following is the sixth
to the left of the fourteenth from
the left end of the above arrange-

ment ?
1 v (2) 1
(3) 6 4) ©

(5) None of these
19. What should come in place ofthe
question mark (?) in the following
series based on the above ar-

rangement ?

43H DOE ITU ?
(1)6A2 (2)6B2
(3) W5A (4) W87

(5) None ofthese
Four ofthe following five are ali
n th

20.

in a certain way base
positions in the above a
ment and so form a gr

that group ?
(1)HD3
(3) VI%
(5) B26
Directions |

tions of letters numbered (1),
and (4). You have to find out whi
the combinations correctly represe

the g digits/symbols base
the fo coding system andffthe
condlt ns t follow and markjthe

oft at combination as
If none of the combi
y represents the group

S your answer.

Bigh

5Wbul9@245-37%5!15[3..9@

Letler 1 .l "

Code R\\PP.‘\HBMEJJQILNT‘
Conditions:

(i)

If the first unit is an even digit
and the last unit is a symbol,
both are to be coded as the code
for the even digit.

If the first unit is a symbol and
the last unit is an odd digit, their

(i)

codes are to be interchanged.

If the first unit is an odd digit
and the last unit is an even digit,
both are to be coded as the code
for the odd digit.

853c28

(1) NQHTFE

(2) NQHTFN

(3) EQHTFN

(4) EQHTFE

(5) None of these

(i)

21.

22. 4$%3%6

(1) PAMHUI

(2) PAMHUP

(3) IAMHUP

(4) TAMHUI

(5) None of these
90©$3%6

(1) IWAHMI (2)

(3) IWAHMR -{A
(5) None of these?
728%9%$

(1) AFNMRB 8] BFN

(3) AR (4) BFD*RA

TR

(Sh.None
-

o
(1)STBEQP
(3) IBEQP (4) JBEQPJ

(5) No offthese

Directions (26 - 30): Study the
ollowing information carefully and an-
wer the given questions :

23.

24.

25.
) TBEQPJ

Aword and number arrangement
machine when given an input line of
words and numbers rearranges them
following a particular rulein each step.

The following is an illustration of input

and r rangement.
: nine poll 19 34 12 69 hour

call

Step I : call nine poll 19 34 12 69
hour

Step II : call 12 nine poll 19 34 69
hour s

Step III: call 12 hour nine poll 19 34
69

Step IV: call 12 hour 19 nine poll 34
69

Step V call 12 hour 19 nine 34 poll
69

and Step V is the last step of the
rearrangement of the above input.

As per the rules followed in the
above steps, find out in each of the
following questions the appropriate step
for the given input.

26. Step II of an input is : bend 15
will care 46 53 29 then

How many more steps will be

required to complete the rear-

rangement?
(I)Five (2) Three
(3) Four (4) Six

(5) None of these
land 62 clear over 41 37
again 56

27. Input:

Which of the following steps will
be the last but one ?
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(1) VIII (2) IX

(3) vII (4) VI

(5) None of these

Step II of an input is : desk 12

year Victor 86 71 store 65

Which of the following will be

step VII ?

(1) desk 12 stére 65 year 71 vic-
tory 86

(2) desk 12 stoie 65 71 yearvic-
tory 86

(3) desk 12 stoére 65 year victory
86 71

(4) There will be no such step

(5) None of these

Inpuu earn 39 23 48 Station 19

begin day

How many teps will be required

to complete the rearrangement ?

()Five (2)Seven

(3)Eight (4)Six

(5) None of these

Step III of an input is : and 25

jungle 93 84 kite more 36

Which ofthe following is definite-

ly the input ?

(1) 93 84 kite more and 36 25
jungle

(2) 9S 81 and 25 kite jungle more
36
(3) jungle 93 and 84 25 kite more

36

(4) Cannot be determined

(5) None of these

Directions (31- 35): In the fol-

lowing questions, the Symbols 8, x, %,

# and @ are used with the followirfgm

meaning as illustrated below :

'P % Q' means 'Pis nelthi’
er than nor equal to Q'.

'P8 Q' means 'Pisn stﬂanﬁ
er than nor equal to Q'.
'P @ Q' means 'P is not gre%gl

than Q'.

28.

29.

30.

'P * Q' means 'P is not s aller
than Q'. J

'R# Q' me 'P is neither great-
er than nor smaller Q'.

Now in each
tions assuming th
to be true, find wh of the four con-
clusions I, II, III d IV given below

em is/are definifely true and give
your answer accordingly.
'31. Statement

H8J, J#NFN@R, R8W

e foBowing ques-
iven§Statements

"r

Conclusions:

I. W%N

II. W% H

III. R #J

IV. R8J

(1) Only I is true

(2) Only II is true

(3) Only III is true

(4) Only IV is true

(5) Only either IIT or IV is true
32. Statements:

B@D,D8F,F%M MxN

Conclusions :

I. B%F

1. MOD

III. N % F

IVv. DON

(1) None is true

(2) Only 1 is true

(8) Only II is true

(4) OnK III is true

(5) Only 1V is true
33. Statements:

R+xT,18M MK, K@V
Conclusions:
I. Vv8M
II. veT
1. M % R
(1) and II are true
ly I"and III are true

(3) ly Fand IV are true

' nly I, III and IV are tru{

A (5) ne of these
Statements:
M%K, KrxW, W&V, V@N

Conclusions:
I. Nx K
II. M %W
. K&V
V. V%M
(1) None is true
(2) Only I is true
(3) Only II is true
(4) Only III is true
(5) Only IV is true

35. Statements:
F#Z, Z@H H JoN,N5B
Conclusions:
. F@ H
II. N&62Z
III. B% H
IV. B%Z

{1} Only I di;:d il s toue

(2) Only II, 11 agd K\Z J_‘Q true

(3) Only J and, [k arg -, v\

4) Only Ly ﬁ{?ﬁ J‘Hrﬁgeugme

(5) None of te8e 140 o

Directions (,33 459) Study the
following information t_ardully and an-
swer the qucsuons _given below :

A, B/ C, D £ F, G and H are
sitling arouttihdfi @ik facing the cen-
tre. D is fourt ¥/ the right of H and
second to the lefiaf B. I7 is fourth Lo
the right of B. C is fourth to the righi
of E who is not an immediate neigh-
bour of B or D. A is nol an immediate
neighhour of D. .

36. What is B's position with respect
toG?

(1) Third to the right

(2) Third to the left

(3) Fifth to the right

{4) Fourth to the left

(5) Fourth to the right

. In which of the following combi-
nations is the third person sit-
ting in between the first and the
second persons ?

(1)ABC (2)GCD
(3) AHE (4) CBA
(5 G
o is third to the right of A ?
(1) H
(2)E
@) F

(4) Data inadequate
(5) None of these

39. Who is to the immediate left of
D?
(1) G
@ c
@) F
(4) Data inadequate
(5) None of these
40. Who is fourth to the left of G ?
(1) E (2)F
3) A (4) H

(5) Data inadequate
Directions (41 - 45): Study the
following information carefully and an-
swer the questions given below:
Following are the conditions for
selecting Manager-Marketing in an Or-
ganisation. The candidate must —
(i) be at least 25 years and not more
than 30 years as on 01.05.2010.
(i) be a graduate in any discipline
with at least 55 percent marks.
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(iii) have completed post graduate
degree/diploma is Marketing
Management with at least 60 per-

«is, , "Bn/ fllfffiShmavoOsriT
(iv) have post qualificatipn work ex-
perience of at least three years
in the marketing division in an
organisation.
(v) have secured at least 45 percent
marks in the selection process.

In the case, of a candidate who

satisfies all the conditions EXCEPT —

(A) at (i) above but has secured
at least 65 percent marks in
post graduation degree /diplo-
ma in marketing manage-
ment, the case is to be re-
ferred to GM-Marketing.

(B) At (iv) above but has post
qualification work experience
ofat least one year as Deputy
Marketing Manager in an or-
ganisation, the case is to be.
referred, to CGM-Marketing.

In each question below details of

one candidate are given. You have to
take one of the following courses of
action based on the information pro-
vided and the conditions and sub-con-
ditions given above and mark the num-
ber of that course of action as your
answer. You are not to assume any-
thing other than the information pr

vided in each question. All these casg'A

are given to you as on 01.05.2010
Mark answer (1) ifthe data pro—
vided are not adequate to take a deci-
sion. 'i
Mark answer (Zﬁth?an idate
is to be selected. -
Mark answer (3) iffthe cangdidate
is not to be selgcted. | i
Mark answer (4) ifthe}s is to
be referred M-Marketing.
i er (5) if the case is to
be r@ferred t M-Marketing.

an organis
years. He
cent marks

s secured 60 per-
both B.Sc. and post

graduate gree in Marketing

v Management. He was born on 8th
i May 1984. He has secured 46
percent rks in the selection

process.

42. Ankida Bhiave has been working
in the rketing division of an
organisation for the past four

~ years after completing her post

graduate diploma in Marketing
Management with 62 percent
marks. She was born on 11th
August 1982. She has secured
52 percent marks in B.Sc. She
has secured 48 percent marks
in the selection process.

Subodh Saxena was born on 15th
November 1982, He has been
working as Deputy Marketing
Manager in an organisation for the
past two years after completing
his post graduate degree in Mar-
keting Management with 68 per;
cent marks. He has se‘red
percent marks in B.Com.

43.

44. Nisha Awashti w;
ting division of
for the past five

Management with 67 p

marks. She has secured 5

cent marks in the selection
cess and 53 percent marks in
B.Com.

45. Ingle was born on #2th
Juyly 3. He has secured 57
rcent marks in B.Com. He has
n v&forking in the Markeéting
vision ofan organisation ffor the
past four years after completing
his post graduate diploma in Mar-
keting Management with 67 per-
cent marks, He has secured 48
percent marks in the selection
process.

Directions (46 - 50) : Below is
given a passage followed by several
possible inferences which can be
drawn from the facts stated in the pas-
sage. You have to examine each infer-
ence separately in the context of the
passage and decide upon its degree of
truth or falsity.

Mark answer (1) if the inference
is 'definitely true', i.e., it properly fol-
lows from the statement of facts giv-
en.

Mark answer (2) if the inference
is 'probably true' though not 'definitely
true' in the light of the facts given. .

Mark answer (3) if the 'data are
inadequate", i.e, from the facts given
you cannot say whether the inference
is likely to be true or false .

Mark answer (4) if the inference
is 'probably false', though not 'definite-
ly false' in the light of the facts given.

Mark answer (5) if the inference 1
is 'definitely false', i.e., it cannot pos-
sibly be drawn from the facts glven
it contradicts the given facts.
Even as the economy is bac]qn b
track and consumer conﬁfn up, the ,*
number of credit cards in t system
continues to dip. In th t'one year,
the total number of credit cards in use

has dipped by almost akhs. Accord
ingto the latest data released, i\n\l

ber of cred1t s dipped

crores 4@§ of Igebruary 20
around year ago. T!e data
also indiate that average monthly card

Spends both in ms of value as well
as volume a stil not touched the pre-
risis levels. Average monthly spend
Financial ar 2010 has fallen to
s.5,100 crores against Rs.5,400
rores in Financial Year 2009, while
verage monthly volumes in the cur-
rent year has been just 1.94 crores a
month compared to 2.16 crores a
month in Financial Year 2009. Even
peak festival spending through cards
in the gurrent fiscal is less than the
prev{m year's levels.

4;. Credit card usage in the current
year has substantially decreased
from Financial Year 2009.

47. There has been a drop of about

40 percent in use of credit card

in the current year from the pre-

vious year.

48. There has been a drop of about

10 percent in the number of
credit card transactions in the
current year from the previous
year.
49. The drop in usage of credit cards
in India is lesser than that in many
other countries.
50. People are not using credit cards
in the current year due to ram-
pant credit card related fraud.
51. Statement: Many persons in the
locality are diagnosed to be suf-
fering from gastro-intestinal diseas-
es after consuming poor quality
drinking water supplied by the
municipal authority.

Which of the following substanti-

ates the facts stated in the above

statement ?

(1) Gastro-intestinal diseases are

not very severe in nature

"(2) People suffering from gastro-

intestinal diseases need not
take medicines. .
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52.

53.

54. Statement :

(3) Many people suffer from gas-
trointestinal diseases after
consuming stale food.

(4) Gastro-intestinal diseases are
waterborne diseases.

(5) None of these

Statement: Many students were

caught while using unfair means

during the final examinations by
the special team of the universi-
ty_

Which of the following can be a

possible consequence of the facts

stated in the above statement ?

(A) The teachers responsible for
invigilation in all such exami-
nation halls where the stu-
dents were caught are to be
suspended from their servic-
es.

(B) All those students who were
caught while using unfair
means are to be debarred
from appearing in these ex-
aminations for a year.

(©) The college should be black-
listed by the university for
holding final examinations at
least for a year.

(1) Only (&) () Only (B) -

(3) Only (C)  (4) Only (B) and (C)

(5) None of these

Statement : Based on nd-

ings ofa recent study, it h:&_:en

reported that regula#,n p-

tion of ripe mango helps in con-

trolling blood pressure as it in-
creases the lev potassium in
the bloo

Which oft foTwﬁlg\pntradlcts

the finding eporte!}the above

Statement ?

(I)fIncreased 1e¥l f potassium

in blood stream enhances

quality of health

ny people who consume

angoes regularly were
o be suffering from

nsumption of ripe mango
Ips in storing anti-oxidant
the body.

(4){ Ripe mango is a good source

f many vitamins

(5)fNone of these

Most part of the
bgundary walls of the local school
ollapsed completely last night.
Which of the following can be a

55.

A

possible consequence of the facts

stated in the above statement ?

(A) The local school authority will
close down the school till the
boundary walls are erected.

(B) The Government will levy pen-
alty to the school management
, for their negligence.

(C) The management of the school
will erect temporary fences till
the boundary walls are erect-
ed.

(1) Only (&)

(3) Only (Q)

(2) Only (B)

(4) Only (A) and (Q

(5) None of these

Statement 4 h-! prices of
foodgrains other
commoditj avé decrease

the seco i

Which

chase of quantity of essential/

commodities and f

(C) Government will iiicrease its
taxes on essentialfcommodi-
ties and food grains.

(1) Only (A) and (B)f'

(2) Only (B) and (C)

(3) Only (A) and (C)

(4) All A), (B) and (C)

(5) None of these

Directions (56 - 60) : In each

question below is given a statement
followed by two assumptions numbered
I and II. An assumption is something
supposed or taken for granted. You
have to consider the statement and the
following assumptions and decide
which of the assumptions is implicit in
the statement.

Give answer (1) if only Assump-

tion I is implicit.

Give answer (2) if only Assump-

tion II is implicit.

Give answer (3) ifeither Assump-

tion I or Assumption II is implicit.

Give answer (4) if neither As-

sumption I nor Assumption II is im-

plicit.

tions
56.

Give answer (5) ifboth Assump-
I'and II are implicit.

Statement: The Government has
recently announced additional
food for work programmes for all

97

59.

60

Lhe drought kif¢eted fegiingin

the country. +qib\297g9b

Ass“mpﬁom irenmasnsM

[. The Govern mé“lllv:ﬁgs'gdequate
FEH IS T AT OEhEGE pic
gﬁﬁfm&m To wnpois

I, Aff B 7836‘ 'Fé"mdy be able

et at leabl’tne meal a day
AR RS WO grammes.

Sta't‘éﬂ{{é‘lf{w Moat of the engi-

neeh{ﬂg‘rbﬂe s'in the state ap-

plied & W Peulatory body for
sanctionfinyg more number of seats
for the next academic session.

Assumptions :

I. The regulatory body may grant
additional seats sought for by
the engineering colicges of the
state.

1I.'The engineering colleges of
the state may gel adequate
number of applications to fill
in the additional seats.

Statement : The Municipal Cor-

poration has announced 50 per-

cent reduction in water supply till
monsoon arrives in the city.

Assumptions :

1. People may proiest against the
unilateral decision of the Mu-
nicipal Corporation.

II. Municipal Corporation may
reduce its taxes from the res-
idents as it failed to provide
adequate water.

Statement : In view of the se-
vere heal wave passing through
the state, the Government has
asked all the schools to remain
closed for the next fortnight with
immediate effect.

Assumptions :

I. The heal wave may not con-
tinue beyond a fortnight.

1. The parents of the students
may not allow their wards to
attend school even afler a fort-
night.

Statement : Many people were

caught by the railway police while

they were trying to cross the rail-
way tracks and imposed heavy
penalty before releasing them.

Assumptions :

1. People may refrain from cross-
ing railway tracks in future.

il. Pcople may coniinue crossing
railway tracks and pay hefty
penalty.
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Directions (61-75) : In each of the questions given below wQIANT MTATIVEVIRPTITY BEires on the righ

figures on th”efjjA*SJ” uence were continued ?Fi Directions (76 - 80) : What will k
Answer Figures . ./ come in place of the question mark (?]
e s — = — . AR REIse SlaCREsIREIO e in the following questions ? 1
61, "““SAD P *rfcz)iﬁﬁ“ !E“A?l E“ZC B 21X F @b T S dn a7 78. 36% of 420 - 56% of 350 ||
H JH i il iy
s 1o sries (1) @ ) {5) =? - 94 X s
. |, daiignal .~ | x o N P (1) 48.2 2) 402 .
e | £ Tt Yl W (31| ]| 00| 9| 1 e @-sss s, g
. ot b L — . ’ (5) None of these
- T R & v “) (2) ‘ . 4 (5) 9 2
P U G N 77. —of 1= of 75% of 540 = ?
| (S AT JP R o 3 5
83. | r RB i g8 50 O
B ¢} o, . |§ s (1) 378 {2) 756
Larn s d e o (3) 252 4) 332
o S , : i Ui T s O (5) None of these
a Owi £ O=|® 3 |’ 3 5 ) ()
- L 78 (V9) x(¥B1) ~27? =13
e (1) (2) 3) 4 5 ( ) ( ) @7 =t }
. oo - I e =)
w |5 ERETETE [ F Y% % s e
. c 2 o ) ™ = d : K
RLR R R s X e ®
T2 : thes
_ (‘] [2) 13) ) i 0One ol NEQ]F
% .Ai)ua 59 28 O *9Eauiu->nz\**aq—>uﬂ—> a7 *»Dau! 79. 36 x 15 56 x 784 + 112 =7?
66. ol ‘ (1) 138 (2' "So
a alu plo ul-> | oja 1 5| p | eip '@ 2 ob ole | p (3) 158 (4) 258
e 1) (2) 13) {4 5) (5) None of these
! T : 3 IR : 80. 314 31.427 * 1 '0.1j28 = ?
o KW B W J
@ 3} (4 5) (1) 81.711 (2) 80 7u:
TO cL[c ofT o 7 1[0 (Lo c Ll @) 71.711  (4) 81.701
68. LT L T Lm &y ¢ ¢ c (5) None of these
clo oTiLc ¢l lo T 0 1 Directions (81-85) « What ap-
_ s ) 2) 3) _ ) ) proximate value will come in place oi
e i N N R A N R R the question mark (?) in the following
69, |V T T vie =ele Atz VoS WE Six B Sfa v SID P 7S @ . estions ? (You are not expected to
D ¥ =|5s @ plz 0 v|r » Z|az | o & alc @ rlo @ alv < wfo ;2 A g;llclatetiieeacta'e) P
u X vaue).
1) 2 B3 @« G
S N R 8L 21.7% of 514.9 4344 =
70. [0 A xfx najp o sls v ajv o * f o " S ) e T 5.2
s x = (1) 320 2) 335
) [ T T (3) 475 4y 375
71. CZ:AV;’*?I C;Z:SI:* (5] 420
v a [] 5 B T 82. 1599 x 199 + 49 - 1398 + 3877
1 2 @ @ ®» =?
=wbnn=2*u ?*zzulou VDA ‘ung.gnv.gmuzq“ea@‘o {1) 9400 {2) 2000
72. Uz: a N T I o o FLEUE PO (3) 8700 4) 8400
a4 0 njy W olo vEla 4 zllz e e x|z x Moo mie g 7 (5) 9200
(1 @ @8 @ 5 adr 991 ac
A STZ A= T =18 v Sio /v vie O=i* /1AVi0o 0 =i% Jlo=1% J0=tv 83. 4433.764 - 221" 993 -
73, ook jo s [2 4K |v=Ko |as @ | |a ukB [xuid |aalE o vl |ovi@ 1133.667 + 3377442 = 7
u xi=Nz olaNo slu\]ax]eN\[x =0 s siviNi=sieNjo uivnN]e siv\]e six (1) 4466 (2) 4377
1) {2) {3) (4) (5) {3) 3633 {4} 4144
LT N R RN VR I S R LR S L (5) 3344
T o | % Mgl el e et Mol e o, 84. (13.96)2 - (15.03)2 + (18.09) -
—Z 32.65 = 7
(1) (2) (3) (4) 5}
0 C UG 7 ®|* 2 GIDACO®S*C2U] [+CzUS|= 6 ®|= D ¢0 & =0 a O] 223 - 2} 264
75. [*o=as|c v b|s U =|z b o o a] [0 & Ojsaczufaczusiuswczi=10n @ (3} 334 (4} 354
® g zZlo=as~|®Dacoly = s[e® = pj|= D0 elo A ofo A Ola O alrcrus {5} 201

m @ ©6 @ ©®
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Directions (86-90) : What will
come in place ofthe'question mark (?)
in the following number series ?
86. 13 16 22 33,51 (?)
(1) 39 (2) 78
(3) 102 (4) 69
(5) None of these 97.
87. 39 52 78 117 169 (?)
(1) 246 (2) 182
(3) 234 (4) 256
(5) None of these
88. 62 87 187 412 812 (?)
(1) 1012 (2) 1437
(3) 1337 (4) 1457
(5) None of these
89. 7 8 24 105 361 (?)
(1) 986 (2) 617
(3) 486 (4) 1657 98.
(5) None ofthese
90. 656 432 320 264 236 (?)
(1) 222 (2) 229
(3) 232 (4) 223
(5) None ofthese r
Directions (91-95) : In the fol-

lowing questions two equations num-
bered 1 and II are given. You have to
solve both

|
J)

the equations and

Give answer (1) ifx > y
Give answer (2) ifx > y - g9,
Give answer (3) ifx < y
Give answer (4) if x <
Give answer (5) .‘_x he
relationship cannot be esp*hﬂl
8L I. 3x¥+8x+4=0
I 4y*-19y+12=0
82. 1. X*+x-20=0
N ?-y-30=0
83. 1. x*- 365 =364
.y~ 324 =81 100.
4 7
[T PO
94. | \/; I
5
2
Iy uy =
Ju
95. [. 2252 -4=0

M. 2255 +2=0

V4

Twenty per cent ofAnuj'sannu
al salary is equal to seventy five
per cent of Raj's annual salary-
Raj's monthly salary is 60% of
Ravi's monthly salary. If Ravi's
annual salary is Rs. 1.44 lacs,
what is Anuj's monthly salary ?

(1) Rs. 2,70,000
(2) Rs. 27,000
(3) Rs. 3,24,000
(4) Rs. 5,400

(5) None of these
Ram's present age is three times
his son's present age and two-
fifth of his father's present age.
The average of the present ages .
of all of them is 46 yearss Wha
is the difference betwee
Ram's son's present

(1) 68 years
(3) 58 years

spectively. Alslo, a bus co
a distance of 480 kms. in
hours. The speed of the bus is
three-fourth the speed of t

tr w much distance will
car ¢ in 6 hours ?
(V50 k (2) 480 km

60 km

annot be determined
(5) No:ACofthese
The total area of a circle and a
squaie is equal to 5450 sq.cm.
The diameter of the circle is 70
cms. What is the sum of the cir-
cumference of the circle and the
perimeter of the square ?
(1) 360 cm
(2) 380 cm
(3) 270 cm
(4) Cannot be determined
(5) None of these
The largest and the second larg
est angles of a triangle are in the
ratio of 3 2 respectively. The
smallest angle is 20% ofthe sum
of the largest and the second
largest angles. What is the sum
of the smallest and the second
largest angles ?
(1) 80° (2) 60°
(3) 100° (4) 90°
(5) None of these

Directions (101 -105) : Study
the information carefully to answer the
questions that follow.

In a school there are 1200 stu-
dents who have visited five different
Delhi, Kolkata, Varanasi
Mumbai and Jodhpur. Forty five per
cent of the total students are bo#
Thirty per cent of the tota&lr visit-
ed Mumbai. Two-fifth oft
visited Delhi. Number of s who vis-
ited Jodhpur is half of t girls visit-
ed Delhi. Two—third offthe remaining]
girls visited K a. Total n be')f
ed Mumba_\ is 3 .

he total bo is-
total
Equal number

cities viz.

/ )

total girls

students
Twenty p o
ited Delhi
boys visit

e cent of th
Jodh

fboys visited Kol a and Varanasi.

1. What is t
who vls1te

total number of girls

Delhi, Mumbai and

Varanasi together ?

(1) 464 # (2) 484

(3) 536 (4) 556

(5) None of tr-ese

102. Total numoer of students who

visited Jodhpur is approximate-

ly what per cent of number of
who visited Delhi ?

(1) 111 2) 91
(3) 132 (4) 32
(5) 72

. What is the.average number of
boys wiio visited Kolkata, Vara-
nasi and Jodhpur together ?
(1) 110 (2) 122
(3) 101 4) 104
(5) None of these

104. What is the total number of stu-

dents who visited Varanasi ?

(1) 78 (2) 69

(3) 102 (4) 103

(5) None of these

105. What is the respective ratio be-

tween the number of girls who

visited Kolkata and number of
boys who visited Mumbai ?

(1) 22 r 51

(2) 23 : 51

(3) 21 : 55

(4) 51 : 22

(5) None of these
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Directions (106-110) : Study dents in School B in the year passed out from Air force acad-

the following graph carefully to answer 2005 ? emy in the year 2006 and num-
the questions that follow. (1) 2000 (2) 3000 ber of officers passed out from
Number of Students (in thousands) (3) 3500 (4) 2500 Coast Guard academy in the year

in three Schools over the years (5) None of these 2009 ?
Directions (111-115): Study the (1) 30 : 17 (2) 3:23 t
A 4 following table carefully to answer the (3) 17 : 30  (4) 45: 13 Q
:E: 3.5 A & questions that follow. (5? Nor}e of these "
z 3 Number of Officers (in thousands) Du'ef:tlons (116-120) : Study
ERn passed out from five the following graph carefullyand an- ||
225 different academies during six swer the questions that follow. [
=g different years Three different products .
] m (in Thousands) duced by a ‘r
i:’ .5 - Acade| Air Army| Navy Coast BSF company in fiveldifferent years
Z 1 mies |Force Guard - \ !
LEO~5 - Years' 'é' 35
A 2004 1.7 2.6 3 30
2002 2003 2004 2005 2008 2007 2005 2.8 8.1 g 95
Years 2006 e 47 | =,
—®— School A 2007 L 8 g j
—@— School B —&——8chool € 5008 51 |64 z 15
106. What was the average number 2009 L3'9 4. % to
i ofstudgnts in all the Schools to- 111. In which aghdemy thé total nuf- E 5 ;
gether in the year 2006 ? out oger ° © 2000 2005 2007 2008 2004
(1) 30,000 was fthe Years
(2) 9,000 ? el Diske (1
(3) 3,000 (4) 6,000 (1) Air fdrce 0 Compact Disks {CD's}

(@) Ar

& fen Drive
(4) CoaStG#lard € rives

(5) None of these

107. Total number of students in
School B and School C together
in the year 2004 was approxi-
mately what percentage of the
total number of students in
School B and School C togeth
in the year 2007 ?

(3) Navy @ Key Boards

(5) BSF . What was the total number of all

the products produced by the
company in the year 2006 and
2008 together ?

(1) 10750 (2) 107.5 lacs
(3) 105700 (4) 10570

per cent of the total n
officers passed out fr
academy over all th(},-years to-

(1) 85 2) 80 gether ? (5) None of these
(3) 75 4) 184 “ 1 12 @ 19 117. What was the average number
(5) 131 — 3) 33 4 28 of Pen-drives produced by the
; ®) “ company over all the years to-
108. How many times the total num- (5) 22 gether ?
ber of students tigthe three 113, What was the average number (1) 1700 @) 17 lacs
Schools A, Bgand ether was of officers passed out from all (3) 17000 (4) 85000

the academies together in the

exactly equa rqonﬁ T{e given
years ? (
(

(5) None of these
year 2007 ?
(1) 2 2) 5 r (1) 1830 (2) 3660 118. What is the difference between
(3)‘ (4) the total number of Pen-drives
(5) ne of these (8) 3.66 lacs (4) 183 lacs and CDs produced by the com-
. (5) None of these pany together in the year 2008
1094 was the approximately 134 n which academy the number and the number of Key boards
velage number of students in

of the officers passed out con-

produced by the company in the
Schoo over all the years to- tinuously increased during the year 2006 ?
gethegf year 2004 to 2009 ? (1) 40000  (2) 4000
(0 19 f2) 2090 (1) Air Force (3) 35000  (4) 3500
) 23 (4) 1800 (2) Army and BSF only (4) None of these
5) 27 . .
110. \(N)hat as the difference between (8) Navy only 119. What was the respective $$jo

(4) Coast Guard
(5) BSF and Navy only
115. What was the respective ratio

between the number of Ksy
boards produced by the compa-
ny in the year 2006, 2007 and

the total number of students in
all the schools together in the
year 2003 and number of stu-

Y

between the number of officers

2009 ?
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1 1:2:3
@ 1:2:2
@ 2:1:3
4 1:2:1

(5) None of these

What was the respective ratio
between the number of CDs pro
duced by the company in the
year 2009 and the number of
Keyboards produced by the com
pany in the year 2005 ?

(1)9: 10 (2 11 : 10

(3 10:9 4 10: 11

(5) None of these

The ratio between the angles of a
quadrilateralis 7 : 2 : 5 : 6 re
spectively. What is the sum of
double the smallest angle and half
the largest angle of the quadrilat

120.

121.

eral?
(1) 162° (2) 198°
3) 99° 4 135°

(5) None of these

122. The sum of five consecutive num
bers is 270. What is the sum of
the second and the fifth number ?
(1) 108
(2) 107
(3) 110
(4) Cannot be determined
(5) None of these

123. 3 men can complete a piece of

work in 6 days. 5 women caq‘
1

complete the same work in
days. In how many, days wi’g
men and 10 women together c
plete the same work ?
(1) 3 days (2) 5 days

A3) 2 days 4.#&1
(5) None of th‘_e

124. A man crosses train
in 12 minute: he sp{tr

crossesja man gonds.
i§ the respec ive fatio be
e speed of in and

o

be determined
(5) None Bf thes
125. If a numbBer is subtracted by two
third of ¥5 per cent of 600, the
value s@ obtained is 320. What
ber ?
(2) 620

GENERAL SOCIO - ECONOMIC
AND BANKING AWARENESS

126. As per the news published in
various newspapers, some pub
lic sector banks are getting fresh
capital infusion as a part of the
recapitalisation plan announced
by the Finance Minister in Unipn
Budget 2010 11. How much mon
ey was earmarked for the same ?
(1) Rs. 10,000 crore
(2) Rs.12,000 crore
(3) Rs. 15,500 crore
(4) Rs. 16,500 crore
(5) None ofthese
As per the reports p
various newspapers,
forming Assets of

127.

(C) Banks did not make
fon for such bad loans earli

‘)&j’, @A)
2) (B)

(3) Only (C) '

(4) Only (A) and (C)

(5) Only (B) and (C)
128. The RBI has decided to introduce
which of the following systems in
place of the existing "Benchmark
Prime Lending Rate System" for
charging interest on loans/ad
vances from July 2010 ?
(11 Prime Asset Lending System
\2) Base Lending Rate System
(3) Net Lending Rate System
(4) Gross Lending Rate System
(5) None of these
One of the sources of income of
banks is to charge fee for certain
services. What are some of the
services provided by the banks
for which they charge fee ?
(A) Issuing Demand Drafts/Pay

Orders
(B) Issue of ATM/Creditl/Debit
Cards

(C) Electronic Transfer of Money
(1) Only (4)
(2) Only (B)

129.

(3) Only (C)
(4) Al (A),(B) and (C)
(5) None of these

130. Which of the following is the fuﬂ

the banking sector ?
(1) Social Lending Ratio
(2) Statutory Liquidity Rafl6’
(3) Scheduled Lllqi.l Rate
(4) Separate la Rate
(5) None of the '
131. As per the pubhshed (F a
maJor newspaper
maj ivate ban
Agu the year incgedsed by
s #heé bank decidéd to keep
ight coptrol on the cost. What
somd of the ways by which
the banks can control the cost ?
A) owering down the inter
est rates on deposits
(B) By bringing down the operat
ing expenses
(C) By reducing the interest rates
on the credit
(1) Only (A)
(2) Only(B)
3) Only (C)
(4) All (A), (B)and(C)
(5) None of these
132. As we all know, the major source
of income of the banks is lending
money (providing credit) and earn
ing interest on it. In normal cir
cumstances, the demand of the
credit comes mainly from which
of the following sectors ?
(A) Personal Loans
(B) Priority Sector Lending and
Bailout Packages
(C) Project Finance
(1) Only (A)
(2) Only (B)
(3) Only (C)
(4) All (A), (B) and (C)
(5) None of these
133. The set of directive principles is
sued by the Central Bank of a
country or the process adopted
by it to control the supply of mon
ey, availability of money, cost of
money and rate of interest, etc.
in order to bring stability and
growth of the economy" are com
monly known as
(1) Monetary policy of the Cen
tral Bank of the countiy

form of the term SLR as used. r

e 4th

.

n.rr'
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134.

135.

136.

(2) Budget of the Government

(3) Profit and loss Account

(4) Business Policy df the Bank

(5) None of these

As per the news in some major

newspapers, 'Kawasaki' has es-

tablished an Indian unit to man-

ufacture its products locally.

What is the product of the Ka-

wasaki ?

(1) Luxury cars

(2) Motorcycles

(8) Tractors

(4) Power tillers and agricultural
equipments

(5) None of these

The Prime Minister of India was

recently on a visit to Bhutan. He

went there for which of the fol-

lowing purposes ?

(1) To attend SAARC Summit

(2) To attend the CHOGAM

(8) To inaugurate the first nucle-
ar power plant of Bhutan
made with the help of India

(4) He was to attend the 50th
Independence Day of Bhutan
as Chief Guest

(5) None of these .

As per the news published in

some newspapers, some Indi‘
to

import Uranium from Aust

But due to certain regulato ﬂ

sues, this is not poss#§€ for

them. What is/are these regula-

tory problems par.‘i1

which goverpgthe

of Uranium lik

(A) India has
with USA

low India to rtisuch ra-
digactive materials from any-

whEre else i
Igdia is not a signatory of Non-

ration Treaty. Hence, it

business houses are willi;

can ort Uranium from
Aut lia dr other such coun-
tries|

(C) As p@r WTO rules, the export-
impdrt of radioactive material
in it§ raw, form is not allowed
as it creates health hazards.

(5)None of these

137.

138.

4

139¢ Wh

140.

Many banks have launched /

floated their subsidiaries which

are fully owned by them. Banks

launch subsidiaries normally for

which of the following business-

es ?

(A) Home loan Business

(B) To sell Insurance Policies

(C) To control Online Operations
or Internet Banking business

(1) Only (A)

(2) Only(B)

(3) Only(C)

(4) All (A), (B) and ( 5

(5) None of these

In one ofhis speeche.

Sen said that th no fir:

dication of su able rec

of India's ec ho is D

Pranab Sen

(1) He is C ian of I
dia

(2) He is ief Econonlilst of RBI

(3) He is |[the Deputy an
of the Planning CommMijsgfon of
India

ndia
one of these
the common people of a

ary or wages, the co

of the goods like eat

white goods, also start increas-

ing. This situation brings which

of the following types of inflation

in the economy ?

(A) Cost inflation

(B) Demand pull inflation

(C) Low inflation

(1) Only (A) and (C)

(2) Only(B)

(3) Only(C)

(4) All (A), (B) and (C)

(5) Only (A)

When the Reserve Bank says that

the Rupee is over-valued, it

means

(1) RBI has shortage of hard cur-
rency and it has to order for
printing of new notes to the
press concerned

(2) Rupee is appreciating against
other currencies whereas oth-
er currencies are weakening
against US Dollar.

(3) Money is locked in banks and
people do not have enough to

141.

142

£

143.

144.

make their day to day p
chases, itis a strategy Wh
brings the inflation dow:

4

More and more peop
selling their stocks. As
sult stock market maﬂrash
as there is d cash fo

such voltmi s transacs,
tions.
(5) None of thi

Which of thm10W1 pubth sec-
tor s has the?

ber f anches in or

) Bank X’lndla

) Ban of Baroda

3) jab National Bank
4) rporation Bank
(5) None of these

num-
coun-

. As per the news in some major

newspapers, Tata Group of In-

dustries has launched a joint ven-

ture in some countries which is

planning to generate power by

"the energy of the heat of the

earth". Energy generated

through this method is technical-

ly known as

(1) Hydro-thermal energy

(2) Natural power energy

(3) Geo-thermal energy

(4) Solar energy

(5) None of these

Which of the following is now a

fundamental right of every child

in India ?

(1) To get a unique identity card
as a proof of citizenship

(2) To get a free medical aid in
any hospital in India, private
or government

(3) To get enough food to survive
even without any parental
support

(4) To get elementary education

(5) All of these

"Higher provisioning dragged the

profits of the 4th quarter of some

banks" was in the news in some

major newspapers. This meatife

that the bank

(1) had many NPAs

(2) had no NPA

(3) was in great loss

(4) was not able to earn any prof-
it lastyear

(5) None of these

www.examrace.com



145. Which of the following agencies/
organizations has proposed to
impose Global Taxes on all the
banks ? (The issue was. dis-
cussed in the meeting of the G-
20 nations held recently.)

(1) IMF

(2) WTO

(3) World Bank

(4) Federal Reserves of U.S.A.
(5) None of these

As we see every day, many Indi-
an banks are in close competi-
tion to open their branches/of-
fices in various countries. What
benefit will the Indian economy
have if banks open branches in
a foreign country ?

146.

(1) It will bring substantial eco-
nomic benefits to India and
also to the countries where
branches will be opened.

(B) It will help in smooth inflow
of FDI, long term capital in-
flow and also technical know-
how to India.

(C) It will give better opportuni-
ties to Indians to visit foreign
nations and get better facili-
ties like education, medical
treatment, etc.

(1) Only (A) (2) Only (B)

(3) Only (C) (4) Only (A) and (B)
(5) All (A), (B) and (C)

As we all know, RBI recen
hiked the CRR by 0.25 bas

147.

will it have on the functioning of

banks ?

(A) Banks will have to 1
additional fundsWith ghe RBI
without any infome generation
to t_llle banks theseffufds,

(B) Banks will have to raise their
capitdl base by br;}i IPOs

ﬂ)li‘y aking money from the
v,

ment of India.
* (C) Ban

funds
less ti
(1) Only (
(2) Only (B]
(3) Only(
¥ (4) All (A)f(B) and (C)
4 (5) None jof these
148. Which offghe following is NOT the
name of & Chemical Fertilizer ?
(1) Urea,
(2) Mupate of Potash
]

some

ill have to give more
rity sectors and
rpofate sector.

v

149.

150.

' 151.
points. What immediate irfigc

152.

153.

(3) Di ammonium Phosphate

(4) Sodium Sulphate

(5) All are fertilizers

The Securities & Exchange Board

of India (SEBI) has asked all FIIs

to divulge the structure of their
offshore entities. What purpose
will it serve ?

(A) To identify if there is any flow
of funds from some question-
able sources

(B) To know how much money
FIIs are planning to invest in
India in 2010-11

(C) To forecast the possibility of
any financial crisis in n a
future.

(1) Only (A)

(2) Only (B)

(3) Only (C)

(1) Mahila Kisan Sashakti
Pariyojana
Backward Region Grant
eme for Women and
Development
5) None of these
overnment, of India is
special efforts to bring second
'Green Revolution' in a particular
region of the country. Which is
that region ?
(1) Central India
(2) Vidharbha Region
(3) Eastern and North Eastern
States
(4) Rajasthan
(5) Orissa
Which of the following pro-
grammes has been launched by
the "Ministry of Food and Civil
Supplies', of the Government of
India ?
(1) Mid-Day Meal Scheme
(2) Wheat-based Nutrition Pro-
gramme
(3) Public Distribution System
(4) Annapurna Scheme
(5) None of these
Which of the following is a sort
of Poverty Eradication Pro-

gramme of the Government of
India, specially designed for ru-
ral areas ?
(1) Self Help Group
(2) Antodaya Anna Yojana
(3) Social Security for Agricul

and unorganized Labouggs r/
(4) Enforcement ‘f

Wages -
(5) None of thes
What is the co butlon of the
agriculture ar“.l ied actlvmes!n

the total GDP of the

jﬁ.j\ (2)8%,

(4) 23%
132’

inimum

154.

155. ject is a scheme
launc e the—

(1) Go nment of Gujarat and
Pradesh

2) Government of India
(8) United Nations Wild Life Fund
(4) Society for Prevention of Cru-
elty on Animals (SPCA)
(5) None of these
156. In each rupee earned by the Gov-
ernment of India, how many
/aise come from the tax collec-
tions or receipts ?
(1)29 paise (2) 33 paise
(3) 50 paise (4) 71 paise
(5) None of these
157. Which ofthe following is NOT the
abbreviated name of a scheme
launched for watershed develop-
ments in India ?
(1) DPAP (2) DDP
(3) VHNDs (4) IWDP
(5) Hariyali
158. Government of India has allocat-
ed a special package of central
assistance of Rs. 12,000 crores
for the drought mitigation in
which of the following areas of
the country ?
(1) Bikaner in Rajasthan
(2) Kalahandi in Orissa
(3) Bundelkhand
(4) Vidharbha
(5) None of these
159. Which of the following schemes
of the Government of India is
associated with the health sec-
tor?
()NRDP
(3) ASHA
(4) Bharat Nirman
(5) All of these

(2)IRDP
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160. The per capita income bri current
prices in India is R s : '

(1)20,000  (2)25,000
(+) 30,000  (4) .’57,000
(5) 50,000

161. Which of the following terms is
NOT used in the game of Foot-

ball?

(1) Back Heel (2) Far Post

(3) Toe Poke (4) Out Swinger,
(5) Love

162. Which ofthe following teams won
the 58th National Volleyball Cham-

pionship Tournament held in Jan-

uary 2010°?
(1) Karnataka (2) West Bengal
(3) Delhi (4) Kerala

(5) Tamil Nadu

163. The Population Stabilization
Scheme launched by the Govern-
ment of India is named
(1) Prerna (2) Sthapana
(3) Unmesh (4) Aaradhana
(5) None of these

164. World Day for Water is observed
on which of the following days ?
(1) 22nd May
(2) 22nd April
(3) 22nd March
(4) 20th March
(5) 20th April

dia?
(1) Kalinga Prize
(2) Oscar Awards

(3) Man Boolir ize
(4) Puhtq 12 1

(5) Jawahaslal Nehru Award for
Internatidfial Understanding
166,,Who amorigst the ﬁwing is the

bel Prize Wi
for 2009 ?
#(l) Barrack Obama
Venkatraman Ramakrishnan
rtaMuller

nef for Literature

aipaul
these
Rahman is NOT associated
which of the following films ?
(1 Ghajini (2) Rock Star

Slumdog Millionaire
Fashion (5) Raavan

168. T e third permanent research
tre being built in Antarctica

167. A

named

v

165. Which of the following aw*
given by the Governm jfl

(1) Partkrama (2)Rohini
(3)Bharati (4) Himalaya

(5) None of these

Lin Dan whose name was in the
news recently is a famous

169.

(1) Lawn Tennis prayer
(2) Badminton player
(3) Golf player

(4) Footballer

(5) None of these

Who amongst the following is the
author of the book "Many Lives
Many Masters" ?

(1) Robin Cook

(2) BriyanViz "
(3) L. K. Advani

170.

171. the following i§ NOT

172. Which of the followi:

Cricket Finals held
(1) Bangladesh

2) India B) N
(4) Pakistan  (5) A
. Lt. General V. K.
(1) new Lt. Governor of Delhi

(2) new Lt. Governor of Chandi-
garh

107

Zealand
stralia
ingh is the —

(8) new Chief of Armed Forces
(4) Governor of Rajasthan
(5) None of these
Who amongst the following is the
recipient of the prestigious Dada
Saheb Phalke Award announced
recently ?
(1) JavedAkhtar
(2) Gulzar
(3) Rajesh Khanna
(4) DevAnand
(5) None of these
. Who amongst the following is
adjudged as "European Footballer
of the year 2009"?
(1) Christiano Ronaldo
(2) Lionel Messi
(3) Thierry Henry
(4) Michael Owen
(5) None of these

174.

175

ENGLISH LANGUAGE

Directions (176 -190): Rgaﬁk;e

following passage carefully*a
the questions given below
words have been printed i bold
help you locate them whil€answe
some of the ques 0

Thmkmg it educatlorﬂn.g
look like in the # decade, one quicl
realizes that th€ trends in technol

are leavmg rge number of our stu-

den: ind. Toda s a"age of expo-
ent ange. New an ver-improv-
ogies are pi pmg up every

very corner of society.
Edu ng the best and the bright-
est i th1 rave new world will take a

dlimproved educational para-
dlgm Q}lowmg our educational tools to
age in the corner of the classroom will
be the mistake that may cost us our
future. Throwing away masses of chil-
dren to inequitable access will ensure
that we languish at the bottom of the
global pool of employable workers for
decades to come.

Technology will shape 1 be way we

countrie /
won the under-19 Cup’ educate students in the next decade.

A user is not simply a person who uses.
For the student, being a user should
involve using the latest technology in a
free and autonomous manner. This
new-found freedom will allow the stu-
dent to become an active participant
in his/her education instead of a pas-
sive passenger. In our current techno-
logical society, being a user also means
being tracked. Tracking a student
means having the ability to target edu-
cation towards weaknesses and
strengths. The ability to accurately
customize curricula to the individual
has been the holy grail of educational
philosophy for many years. This gold-
en age of technological development
may soon enable this dream to become
a reality.

Current educational curricula and
individual assessment is arbitrary at
best. Accurately assessing a student
can only be achieved by using modern
tracking and database technologies.
Imagine a world where every child has
a tablet computer with ready access to
the internet. Further, imagine that ev
ery student can access all the knowl-
edge of humankind freely at any mo-
ment in time. Continue to imagine a
world where a misspelled word brings
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up a spelling challenge application in-
stead of an auto correction. Try to con-
template what it would mean for a
teacher to have a database of every
misspelled word, every misunderstood
concept or every missed, equation for
each of their students. Try to envision
a teacher with the ability to customize
the experience of the individual "user"
with minimal effort. Imagine the cur-
riculum being automatically targeted to
the user through an intuitive educa-
tional platform that knows all strengths
and each unique weakness. In the last
few hundred years, most individuals
would consider an education as some-
thing you receive. You often hear the
question asked, "Where did you receive
your education?" As we proceed
through the next decade, education will
slowly move away from reception and
toward being custom designed for the
individual user. New technology will not
only allow us to receive an education,
but also develop an education. The
question we might ask in ten years,
"How did you develop your educa-
tion?" The question of where will still
be important, but the how of the mat-
ter will be the focus that defines the
individual.

To make this a reality we will need
a standardized platform from whic
develop a student's unique educati J
This standardized platform willgeio
us to tailor a custom curriculum that
will be matched to talents, interests
and life goals. For the edu t{a stan-
dardized platform wi te way to
assist the student in 1 true
purpose in life through a unigue edu-
cational experience. The basic read-
ing, writing and arithmetla}v not be
taught as mugeh as they will be discov-
ered a . Learning will'lbecome a
reciproca perience between the
teacher, the st nt and the machine.

Under a ndardized platform,
each of these [fhree fparticipants will
have a role to y. Thie teacher will be

the facilitator, fassisting the develop-
ment of the cufriculum and inspiring
the direction ithe student takes. The
~  student will Be the user, gathering re-
sources, skills and knowledge in an
efficient and faeasured sequence. The
machine will [do the work of data gath-
ering and lysis, which will assist
the teacherand student in refining the
eurriculum. This data gathering work
ofthe machine will also free the teach-

"r

er from the burden of record-keeping
and tedious tasks that currently dis
tract from the realjob of teaching and
learning. each student 'will have
cess to technology in tHE fu-
ture.

(1) Only (A) and
(2) Only(B) ?
(3) Only(C)

(4) Only (B) and (C)

(5) All(A); (B) and (c’I '

irid'ividual student capabili

(C) The author visualizes
c-
Under a standardized system,
grade level will be far less important.
Achievement and progression will be
measured by accomplishment and in-
telligence as a benchmark for success.
The question of failure or success will
be irrelevant and replaced with a stan-
dard and consistent measurement of

potential and overall intelligence. Infor- hich of'the followmgr possi-
mation will no longer be missed ﬂ)s\gppropria title for
continually rehearsed and passage ?

for retention by the machi (1), Techriplogy - A Welcome Re-

such as data tracking,
record keeping are ¢
plished manually. T

liefyto Teachers
(2) Revamping the Educational
Sector - An Impossible Fu-

ture;

low wo.uld elimi (3) Education - Arbitrary But a

free the teacher t@ do their m Reality

teaching studen (4) Technology and the Economy
The next décade may (5) Technology - Reshaping the

Future of Education

17?—10w, according to the author, will
the perception towards education

thr imvestment and universalfstan- change over the next decade ?
dardiz of this technology.§If we (1) Where an individual gets his
contjfflue to divert wealth towardd fruit- education will gain increasing
essfMBoalsfand corporate greed, this importance

(2) Education will be viewed as a
prerogative of the elite only

(8) Creativity in an individual will
be regarded as needless

(4) The importance of education
will decline

(5) None of these

180. What does the author mean by
the term "tracking a student" ?

delayed.

176. According to the author, which of
the following will be the benefit(s)
of introducing a standardized
technological platform?

(A) Potential of a child will take
precedence over the grades
he/she scores.

(B) Improving the educational
syllabus would become easi-
er.

(C) Teachers would be able to

devote more time to teaching.

(1)Only(C)

(2) All (A). (B) and (C)

(3) Only (B) and (C)

(4) Only (A) and (B)

(S) Only (A)

Which ofthe following is/are true

in the context of the passage ?

(C) In the presence of technolo-

gy each student would re-
quire constant monitoring by
other individuals to maximize
learning.

(1) Analyzing the strengths and
weaknesses of a student and
designing an educational syl-
labus accordingly

(2) Assessing whether a student
is paying due attention to the
existing curriculum offered by
an institute oflearning

(3) Analyzing the positives and
negatives of an educational
institute and modifying it suit-
ably to cater to industrial re-
quirements

177.

(4

Following a student to the
educational institute that he
visits frequently in order 'to
estimate the time he spends
there

(5) None of these

(B) Educational philosophy is
based on the belief of tailor-
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181. According to the author, why is
the current education provided
not satisfactory ?

(1) The teachers providing edu-
cation are not qualified enough
to emphasize on quality

(2) Quality of education provided
is not uniform across the
globe and individual assess-
ment is subjective

(3) The educational sector is
fraught with corrupt practic-
es and thus does not produce
the desired result

(4) The education system is not
guided by technology and
hence the pace oflearning is
slow

(5) There are too many schools
in the country which cannot
be monitored effectively

182. What is the author's vision re-
garding the integration of tech-
nology with education ?

(A) A substantial database con-
sisting of each student's
learning curve would be readi-
ly available.

(B) An error would activate a soft-
ware which would encourage
learning rather than auto-cor-
recting.

(C) Experimentation in academ-

ics would be encouraged.

(1) Only(C)

(2) Only (A) and (B)

(3) A11(A),(B) and(C)

(4) Only (A) and (C)

(5) None of these

. How has the author de he
term 'user' ? 1
(1) One who invests h 1;

technology even fwhen i i
beyond*his/her m

(2) One wholuses avalla‘tr)‘iA
nology tolthe maximu
foré 1 gest period

(3) One whd freely and actively

participa n acquiring
skills an

__and

invests in tech-
r his/her require-
ment and wherewithal

(5) None of these

Directions (184-187) : Choose
the word which most similar in
meaning to the w@rd printed in bold
as used in the pagsage.

v

184. RECIPROCAL

(1) interactive (2) unresponsive
(3) reverse (4) regular
(5) inverse
PARADIGM
(1) change
(3) future

(5) diagnosis
AUTONOMOUS
(1) single

(3) governed
(5) insufficient
DELEGATED
(1) taxed

(2) demoted
(3) input

(4) authorized
(5) assigned
Directions (188-19,

185.
(2) shift
(4) mode!

186.
(2) independent
(4) forceful

187.

the word which is most#flopposite in
meaning to the word p; i M
as used in the passag
188. INEQUITABLE

(1) abundant (2) complete

(3) unequal (4 fair

(5) sufficient "
189. LANGUISH

(1) ripen (2) hasten

(3) sh (4) weaken

(5) cI
1 AR TRAR v
‘ Jectlve (2) deliberate f
'J (3) Pandom (4) transparen

(5) lawful

Directions (191-195): Which of
the phrases (1), (2), (3) and (4) given
below each sentence should replace the
phrase given in bold in the following
sentence to make the sentence gram-
matically meaningful and correct. Ifthe
sentence is correct as it is and 'No cor-
rection is required', mark (5) as the
answer.

191. After enjoying one of the biggest
successes of Indian cinema, the
actor is pulled the brakes on his
career.

(1) has putting brake

(2) has pulled the brakes
(3) is braking

(4) is put brakes

(5) No correction required

192. Many of our tinsel town beauties

will bit the panic button ifthey

didn't have at least one movie in
hand.

(1) would hit panicky buttons
(2) would hit the panic button
(3) will be hitting panic buttons 1
(4) have hit panicky button d (

(5) No correction required

193. Alarm to declining marriage fig- L |

ures and increasing divorce rates
the government has cotu wit! _.r }
a novel way to tackle t! @ue. L ¥
(1) Aiamiingly on T
(2) Alarming as ' (
(3) Alarms with J
(4) Alarm
(5) N cor n reqmred

194. The tw te dropped luﬁo
watc he ﬁ h none
than ir fat! r

) droppir
- (2) droppe iib as

(3) drop on HJ
(4) dropped in for
(5) No correction required

5. The researchers found that chil-
dren with lung disease are at in-
crease risk for developing a sec-
ond type of pneumonia.

° (1) re at increased risk

£ncreasingly risking

(3) is increased risky '

(4) are increasingly risky

(5) No correction required

Directions (196-200) : Each
question below has two blanks, each
blank indicating that something has
been omitted. Choose the set. of words
for each blank which best fits the mean-
ing of the sentence as a whole.

196. What goes into making a marriage
can only be____ by trial and error
and couples are best left to____
out what works.

(1) discovered, translate
(2) regulated, find

(3) learnt, figure

(4) seen, thrash

(5) experienced, judge

197. The producer is known to__
with new stars and fresh talent,
and though there have been a few
hits and misses, this filmmaker
totally. for the new breed.
(1) try, demands
(2) experiment, vouches
(3) sign, goes
(4) produce, promises
(5) work, supports
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198. The Government stated that it had
the right to use as much
force as was necessary to regain
control of areas by terror-
ists.
(1) free, marked
(2) practical, left
(3) fundamental, infest
(4) basic, undertaken
(5) legitimate, dominated
Obesity and alcohol __ togeth-
er to ;___ the risk of liver dis-
ease in both men and women.
(1) act, increase
(2) result, aggravate
(3) taken, arrest
(4) put, heighten
(5) mix, lower
There were screams, chills and
thrills_____ at the discotheque the
other night as the director along
with the producers hosted a party
to the success of their lat-
est horror flick.
(1) combined, downplay
(2) alike, mourn
(3) experiences, mark
(4) galore, celebrate
(5) risen, generate t
Directions (201-205) : Rear-
range the following six sentences (A),
(B), (C), (D). (E) and (F) in the proper
sequence to form a meaningful para-
graph; then answer the questions gi'
en below them.

(A) However, many people maymmo

be aware of the numerous oth-

199.

200.

er areas where it en ap-
plied.

(B) Today, even, t s!w have
little knowledg@about h&o-
duction of virtlial rea yare
now mest likely e o ts use
in vidge games.

(C) Similarly, medlcal s;udents

H‘e‘ bstituted a cadaver for
lass mould of a body
t when training to
g

perfor:
(D) Virtual lity
iar conc@pt to
the earlyj#90's.

s an unfamil-
any people till

(E) Introdudirigvirtual reality to the
¥ real world, thus, has already
i provenjto be beneficial for ev-
In Vv ery indistry it encounters.

91 For exdmple, astronaut' train-

lit ees h recently used virtual

reality to simulate a trip to
space

201. Which ofthe following should be
the FOURTH sentence after re-
arrangement ?
(1) E

(3) A

(5) B

Which of the following should be
the FIRST sentence after rear-
rangement ?

(2)

F
(4)D

202.

(1) A (2)B
3 c (4)D
(5 E

203.

Which of the following should be
the LAST (SIXTH) sentence af-

.

ter rearrangement ?

(1) A (2) B
(8) C (4) D
() E -,
204. Which ofthe foll, uld be
the SECOND tence fafter re-
arrangement -
(1) B 2) C
38) D (4) E
(S) F
205. Which of the following sh

the FIFTH sentence afte
rangement ?
(1) A

ectlbns (206-215) :

grammatical error in it.
ny will be in one part of the

?Ch
is'a

ror i
entence, the number of that part will

be the answer. Ifthere is no error, the
answer is (5). i.e. 'No error'. (Ignore the
errors of punctuation, if any.)

206. Human babies whose mothers
(1)/ have had the flu while preg-
nant may (2)/ have a greater risk
of developing (3)/ schizophrenia
lately in life. (4)/ No e.iror {u)
Six women achieveis, who con-
tinue (1)/ to inspire the younger
lot, were honoured (2)/ with their
contributions in their chouen
fields (3) / on the occasion of wom-
en's day. (4)/ No error (5)

208. All Indians know that they are (1)/
superior in all respects not only
to (2)/ those unfortunately beings
called foreigners, but (3)/ also
that they are superior to all other
Indians. (4)/ No error (5)

While the handsome actor was
busy (1)/ belting out one-liners,
his (2)/ graceful co-star was a (3)/
i_. mplele imagery of woman pow-
er. (4)/ No e.rcr (5)

207.

209.

210. He is one of the first film pro-
ducers (1)/ to actually take the‘
much needed step (2)/ agains
stars putting up information abs
(3)/ under-production films
social networking websnes#

No error (5)

211. It was an evening of / fun and .
frolic as the cit htgeratl (2)1
and high-profil usinessmen

miss the show. (4)/ Negyery
212. Resul

made sure (3)fmthat they dldlg
()

nding tha®boys not

/ play more than gifls, but

y sfant earlier, an Gutcome
t (3)/ cquld be clearly related
to & cultual influence. (4)/ No
error (

13. Videogames may not (1)/ neces-
sarily adversely affect (2)/ the
academic/results in children (3)/
contrary"to most parents's per-
ception. (4)/ No error (5)

214. Celebrities showed their childlike

side (1)/ yesterday, as most of

them turn up wearing (2)/ car-
on T-shirts for the screening of
)/ the latest animated film in

town. (4)/ No error (5)

215. The study focusing exclusively to
(1)/ critically ill children found
that children with chronic illness-
es, (2)/especially respiratoiy ill-
nesses, are most likely, (3)/ to
develop influenza that requires
critical care. (4)/ No error (5)
Directions (216-225) : In the

following passage there are blanks,

each of which has been numbered.

These numbers are printed below the

passage and against each, five words

are suggested, one of which fits the
blanks appropriately. Find out the ap-
propriate word in each case.

Prior to independence the health-
care sector in India was in a (216) with
a large number of deaths and rampant
spread of infectious diseases. After
independence the Government of In-
dia laid (217) on primary healthcare
and India has put in sustained efforts
to better the healthcare system (2181
the country, The government initiative
was not enough to meet the demands
of a growing population be it in prima-
ry, secondary or tertiary healthcare.
Alternate sources of finance were crit-
ical for the sustainability of the health
sector.

Till about 20 years ago, private
sector ventures in the healthcare see-
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tor (219) of only solo practitioners, small
hospitals and nursing homes. The qual-
ity of service provided was excellent
especially in the hospitals run by char-
itable trusts and religious foundations.
In 1980's realizing that the government
on its own would not be able to {220)
for health care, the government allowed
the entry of private sector to reduce
the (221) between supply and demand
for healthcare. The establishment of the
private sector has resulted in the (222}
of opportunities in terms of medical
equipment, information technology in
health services. BPO, telemedicine and
medical tourism.

Large companies and (223) indi-
viduals have now started five star hos-
pitals which dominate the space for the
high end market. The private sector
has made (2241 progress, but on the
flip side it is also responsible for in-
creasing (225) in the healthcare sec-
tor. The private sector should be more
socially relevant and effort must be
made to make private sector accessi-
ble to the weaker sections of society.
216. (1) shambles
(8) demand
(5) ruined
(1) bricks
(3) request
(5) important

(2) failure
(4) prosperity

(2) emphasize
(4) stress ‘.

'A

217.

218. (1) through (2) across
(3) sharing (4) with —
(5) on

219. (l)made prise
(3) con51ste
(5) containe:

220. (1) cater (2) pr e
(S‘T' anage u 1ve
(5) give

Zﬂli p (2) ition
S@distance (4) length
(5) ¢ t '

222. (1) rgduc (2) sea
(3) cr@ppin; (4) disabling
(5) eniérgen

223. (1) negdy (2) destitute
(3) bigger (4) affluent
(5) mpuch

224. (1) wly (2) improve
(3) ny (4) improvised
(5) tfemendous

225. (1) eed (2) pace

inequality (4) uniformity

-
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ANSWERS 185. (4) | 186.(2)| 187.(5) | 188,14
189. (3) | 190. (5)| 191.(2) | 1
1. (3) 2.(1) 3.2 | 4.3 193. (4) | 194. (5) | 195. (1) |. 196. (3)
5. (5) 6. (2) 7. (5) 8. (4) 197. (2) | 198. (5) | 199.(1) "200. (4) .I
9.3 | 10.¢4)| 11.(3)| 12.(4) | | 201.(2)] 202. 4)| 203. (5) | 204. ( ‘
13.(5) | 14.(2) | 15.(5).] 16.(2) 205. (3) | 206. (4) 7..3) | 208.(3) |
17. (1) | 18.(2)| 19.(5)| 20.(4) 209. (§) | 210.(1) f211. (5) | 212. (1)
21.(2) | 22.(1)| 23.(5)| 24.(4) 213. (3) «14-6 215,(1) | 216. (1)
25.(3) | 26.(3)| 27.(5)| 28.(4) 217. (4"1 218. (2) | 219¢ (3) | 220. (2)
20.(1) | 30.(4)| 31.(5) | 32.(1) | | 221.(1) 222.(2)| 223. (F 224. (5)
33.(2) | 34.(4)| 35.3) .(1) Lokl
37.(2) | 38.(3)| 39.( 3) 'II.-' ¥
41.(2) | 42. (3 5)| 44, @) EXf ANATIONS
45.(2) | 46.(1) #947.(5) | 48.( 1. (3 '
49.(3) | 50. ( S1. 52. (@) nofmargfood 5 taffalda
or.0 | sal| so (f cofy| DU n —> sl
61.(1) 63 21 63.( 64l (5) ’Ihe code for ‘that’ is either ‘sa’ or
65.(3)| 66.(1)| 67.(1 -4 | g (If]a
69.(1) | 7P.(2)| 71.(5) '#72.(2) -
73.(4) |+ 74.(5)| 75.(3)| 76.(2) ‘ — 5
7.(1) | 78.03)| 79.(5) el 1
{¥ 82.(2)| 83.(1) fs4. @) [‘
5.(4)|_86.v>| 87.(3) |88.(2)
.‘ é9-(17_90-(1) 91-@ 92. 4) SH )1;1.1)[-1@ ITOD( K
93.(4)| 94.(5| 95.(3)| 96.(2)
“ 97, (5)| 98.(1)| 99.(2)| 100. (4)
101.(2) | 102. (3) | 108. (1) | 104. (5)
105. (1) | 106. (3) | 107. (1) | 108. (4)
Similarly,
109. (2) | 110. (3)| 111.(2) | 112.(5)
113.(2) | 114. 3)| 115. (5) | 116. (1) 1 |
117. (3) | 118. (1)| 119. (4) | 120. (1) -1 |
121. (4) | 122. (5)| 123. (1) | 124. (3) 1 -1 }
125. (2) | 126. (4)| 127. (4) | 128. (2) -k ' !
129. (4) | 130. (2) | 131.(2) | 132. (4) MORNING S—>08 PN M4
133. (1) | 134. (2)| 135. (1) | 136. (2)
137. (4) | 138. (1)| 139. (2) | 140. (2)
141. (5) | 142. (3)| 143. (4) | 144. (1)
145. (1) | 146. (4)| 147. (1) | 148. (4)
149. (4) | 150. (1) | 151. (3) | 152. (1)
153.(2) | 154.(5)| 155.(2) | 156.(4) | 3- @G U E S T M g A N
157. (3) | 158. (3)| 159. (3)| 160. (4) AR A T SRR A A
161.(5) | 162. (5)| 163. (1) | 164. (3) 53®@%2 gea4 4
165. (5) | 166. (3)| 167. (2) | 168. (3) Therefore
169. (2) | 170. (2)| 171.(4) | 172. (5) S A M E
173.(3)| 171<c,| 175.(2) | 176.(2) 144
177.(4) | 178. (5)| 179.(5) | 180. (1) $ 4 6 @
181. (4) | 182. (3)| 183.(3) | 184. (1)
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4. (3) Ris father of D, K and M,
The sex of K is not known.

Therefore, K is either son or
daughter or R.

5.v(5);
1J2 3 4 5 6 78 10!
SIE Q U E N T 1[afln:

Meaningful Words => SALE, SEAL
6. (2).

N
AR D W(—%—) 5
15mn 1%:a 5
B C

20m

Bushi is 20 inetres towards East
from the starting point.

782 6 4 9 8
9 8 5 4 3 2

1

8 (13 818151493125‘

R O N1 C L E
[ |
8 320-16+4%x3:2=7
=?2=20+16+4-3x2
=?=20+4-6=18
‘4 Maternal gr_'ﬂdtalhers only
ch11d means motler of*S Udhir.
Therefore, the bojin the to-
graph is*either Sudhir or hi{) roth-
er.
(11-15) :
(i) WAl rors are chalks -» Uni-
ver$@l Affirmative (A-type).
(ii) Some tol
ticuladaiffi

are radios —» Par-
tive (I-type).

(iii) No paniibt is @row -> Univer-
sal Negitive (E-type)

(iv) Some rrots are not crows
-> Partjcular Negative (O-type).

11. (3) Some jponds are mirrors.

ors are chalks.

I-type of Conclusion

"Some ponds are chalks."
Conclusion II is Converse of it.

. (4) All chairs are sofas.
7

All sofas are books.

All books are nets.

A+ A+ A= Atype of Conclusion
“All chairs are nets.”
Conclusion Il is Converse of it.

All sofas are books.

-4
All books are nets.
A+ A= A-type of Conclusion

“All sofas are nets." 15.

Conclusion 1 is Converse of it.~

L

A+ A= A-type of Conclusion
“All books are gardens "
‘This is Conclusion V.

All books are nets,

All nets are gardens.

All rooms are baskets.

/ |

All baskets are tyres.

A + A => A-type of Conclusion
"All rooms are tyres."
Conclusion III is Co‘venﬁe oflt

All houses are ba*ts

All baskets aré™yres. i
i L
A+ A >1A&rpe of Conclision

ljes are tyres." !’
om(lu I'ls Converse of it.

(5) Some trtcﬁ)rs are buses.

1

All bus€s are trains.
I + A => I-type of Conclusion
"Some tractors are trains."

Conclusion III is Converse of it.

Some trains are boats.

Conclusion I is Converse of it. fboats are ships.
-

. D) All fnonkeys are parrots.

No parrot is crow.

A+ E = E-type of Conclusion
“No monkey is crow.” .

No parrot is crow.

16.

I-type of Conclusion
"Some trains are ships."
Conclusion IV is Converse of it.

{2) |Leter] Number| Letter

This is only one such combination ;

[72F].

17. (1)

Sonie crows sie horses.

E + 1= O,-type of Conclusion
“Some horses are not parrots”.

18.

Some crows are horses.

19.

All horses are tigers.

I + A= I-type of Conclusion
“Some crows are tigers.”
Conclusions ¥ and I form Com-
plementary Pair. Therefore, either
1 or ITI follows.

(2) All houses are rooms. 20.

All rooms are baskets.

A+ A= A-typc of Conclusion
“All houses are baskets.”
This is Conclusion IV.

{ Number | Consonant | Symhol |

There is no such combination.

(2) 6th to the left of the 14ih from
the left end means 8th from the
left end, ie., 1.

(5)
4 +7 D +7 I 47 6
3 +7 ) +7 T +7 B
H¥ BT y_*7
4 H-——>——>D—=—>3

J—=2 o258

V—= 5 Lo

+3 7 -6

N———8——D

B2 ;5% .5
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21. (2) 8

Condition (i) is applicable.

2.2 8 5 3 © 2 5

A F 1 o T

N 9 HTF N
Condition (i) is applicable.

22. (1) 4 $ % 3 * 6

P A M H U I

238. (5 g © 8 3 o. .

R T A H M R

Condition (ill) is applicable.
24. (4)7 2 8 % 9 $

AN A A AR

B F NMRA

25. 3 © 7 S 5 4 1

J B EQPT

Condition (ii) is applicable.
(26-30) : After careful analysis of the
Input and various steps of rear-
rangement it is evident that in each
step one number or word is "ear-
ranged. These two steps are con-
tinued alternately till all the wozds
get rearranged in alphabetica&—
der and all the numbers ggt rear-
ranged in ascending ordea
26. (3)
Step II : bend 15 will care 46 53 29

then .!
Step I11; bend*‘S c e‘\i}l 46 53 29
then - %d
Step IV: bend care 29 will 46 53
o then Fa
Step V. § bend 15 care 29 then will 46
53 |

Sta\/ﬂ: bend 15 care 29 then 46 will
53,

27. (5)
clear over 41 37 again
Input
ain lahd 62 clear over 41
Step [ 56
ain 37 land 62 clear over
Step 1I 156
gain 37 clear land 62 over
Step III 156
gain 37 clear 41 land 62
Step IV ver 56
again 37 clear 41 land 56 62
Step 3 over

Step VI: again 37 clear 41 land 56
over 62
Step V is the last but one step.
28. (4)

I. W%N => W < N: NotTrue
II. W% H=> W < H: NotTrue
III.R#J => R=J : NotTrue
IV.R5J => R>J : NotTrue
R is either greater than or equal
to J. Therefore, either III or IV is
true.
32. () B@D => B<D

DSF =» D>F

F%M = F<M

M*N = M>N
Therefore, B<D>F<M>N
Conclusions
I. B%F => B<F : NotTrue
II. M8D =» M > D: NotTrue
III.N%F =» N<F : NotTrue
IV.D8N =* D> N : NotTrue

2)R*T = R2T
TSM = T>M
M% K= M<K

36. (1) B is third to the right of G.
37. (2) D is sitting between G and C.
38. (3) F is third to right of A.

39. (1) G is to the immediate left of D.
40. (3) A is fourth to the left of G.

(41-45) :

.
.'{

Candi- Conditions

date  [(i) [@ or )] @)]() or B ©)
Archit |/ |/ /7 -/
Ankida |/ |x x|/ |/ -/
Subodh |/ |/ !/ |/ /
Nisha |/ / |/ /
Shreyas|/ |77 /

www.examrace.com

K@V = K<V L |
Step II : desk 12 year victor 86 71 Therefore, R= T > M < KigjV & r
store 65 Conclusions -y
Step III: desk 12 store year victor 86 I. V&M = V>M True
7165 II. VST = V>T NolTrue
Step IV: desk 12 store 65 year victor HLM%R = M<R True
Sten V- i6 1112 . 65 viet IV.K §R = K>R NotTrue
epV : 82371 store victor year 38, A M%K = M<K
K*W KzW
Step VI: desk 12 store 65 victor 71 & = 2
year 86 ; N W3V = W>V
20. (1) ‘ V&N = V<N
Therefore, M<K>W > V<N
Input : earn 39 23
gin day Conc}usions
Step I : begin I.’N e K =% N >W: NotTrue
19d II.°'M % W=* M < W: NotTrue
Step II : begi K8V =* K>V : True
tio IV.V% M =* V<M : NotTrue
Step III: be 19 day efrn 3923 48 35. 3) F#2Z = F=2
st Z@H = Z<H
Step IV: begin 19 day 2 H%N =» H<N
station N8B = N>B
StepV : begin 19 day 23 earn 39 sta—/ Therefore, F = Z<H<N>B
tion 48 Conclusions
* (@) It is not possible tofletermine I. FQH =>F<H: True
Input from any giveh step. II. N8Z => N> Z: True
1_35)' Yo | B= @ =< III.B% H => B <H : NotTrue
0, - .
s s | Foe IV.B%Z => B<Z : NotTrue
(36-40): Sitting Arrangement
31. (5) H8J => H>J
J#N = J=N
N@R =» N<R
R5W = R>W
Therefore, H>J=N<R>W
Conclusions

)



41.

42.

43.

44,

45.

46.

a47.

48.

49.

50.

5

ey

52.

53.

54.

55.

56.

(2) Archit Fradhan satisfies all the
conditions. Therefore, he can be
selected.

(3) Ankida Bhave does not satisfy
condition (ii) or (A). Therefore, she
cannot be selected.

(5) Subudh Saxena satisfies condi-
tion (i), {ii), (iii), (B) and (v). There-
fore, his case would be referred to
CGM-Marketing.

(4) Nisha Awasthi satisfies condi-
tions (i), (A), (iii), (iv) and (v). There-
fore, her case would be referred
to GM-Marketing.

(2) Shreyas Ingle satisfies all the
conditions. Therefore, he can be
selected.

(1) The contents of the passage
clearly indicate that the Inference
is definitely true.

(5) It is mentioned in the passage
that the number of credit cards
dipped to about two crores as of
end February 2010 from around
2.5 crores a year ago. Thus, the
drop percentage is 20 per cent.
(1) Average monthly spend in the
Financial year 2010 fell to Rs. 5100
crores against Rs. 5,400 crores in
the Financial Year 2009. Thus, the
drop in the term of expenditure is
about six per cent. But the drop in
the term of volume is about 10 per

cent. !
(3) There is no such data jn th
passage. '

(5) The very first line of the A—
sage clearly indicates thal™he drop
in the number of credit card users
was due to slack:

economy
. (4) The stateffient Gastro-intesti-

nal diseases wate#®borne dis-
eases" substaritiates the facts stat-
ed in the statethent. Fs

(2) Statement (15;) y be a possi-

ble consequence of the facts stat-
im the statement. "
( statement "Many people
who co me ripe mangoes regu-
larly nd to be suffering
from hygertengion" contradicts the
findingsffeport@d in the statement.
(3) Stat@ment (C) may be a possi-

ble confequence of the facts stat-
ed in tie statement.
(1) Statements (A) and (B) may be

the p@ssible consequence of the
facts ted in the statement.
(5) Clgarly both the assumptions

are implicit in the statement.

F

57. (5) Clearly both the assumptions
are implicit in the statement.

58. (4) None of the assumptions is im-
plicit in the statement.

59 (1) Obviously, only assumption I is
implicit in the statement.

60 (1) Obviously, only assumption I is
implicit in the statement.

61. (1) From Problem Figure (1) to (2)
one line segment is added to the
lower row while two line segments
are deleted from Problem Figure (2)
to (3). From Problem Figure (3) to
(4) three line segments are added
and four line segments are deleted
from Problem Figure (4) to (5).
Therefore, four 1i
would be added from

From Problem Figure (2)
‘ nd and the fourth de
th i

with.new designs. These

are continued alterna
subsequent figures.

y in the

62. (2) In the subsequent figures the
two designs move one step in anti-
clockwise direction alternately and
move out of the rectangle after ev-
ery two figures.

63. (3) The following Changes occur
from Problem Figure (1) to (2) :

Similar changes occur from Prob-
lem Figure (3) to (4) and from Prob-
lem Figure (5) to Answer Figure.
64. (5) In the subsequent figures the
circle moves two steps, the square
moves one step in clockwise direc-
tion and it is replaced with a new
design in each subsequent figure,
the star moves from right to left
stepwise and moves to right from

65.

-

67

68.

69.

left in one step while the fourth
design moves respectively one- ha]f
one, one and half, two.... st

in clockwise direction after be
rotated through 90 clockw
(3), The following change
, | from,Problem Figure (1)1t-o

@E

im: aﬂchnges occu from Prob-
m Figuge (3) to (4) and from Prob-
m Fi (5) to Answer Figure.

e [following changes occur

ccur-.

from ro lem Figure (1) to (2) :
L L)
® >0 [ ]
e (.

Similar changes occur from Prob-
lem Figure (3) to (4) and from Prob-
lem Figure (5) to Answer Figure.
(1) From Problem Figure (1) to (2)
the four sectors of circle move one
step in anticlockwise direction and
the smaller designs attached to line
segments move to opposite side
diagonally and two of the four small-
er designs are replaced with new
designs. Similar changes occur
from Problem Figure (3) to (4) and
from Problem Figure (5) to Answer
Figure.

(4) In the subsequent figures two
designs move one-half step and the
other two designs move one and
half steps in anticlockwise direc-
tion.

(1) The following changes occur]
from Problem Figure (1) to (2) :

e g
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Similar changes occur from Prob-
lem Figure (3) to (4) and from Prob-
lem Figure (5) to Answer Figure.

70, (2) From Problem Figure (1) to (2)

the lowermost design moves up-
ward, the central design is re-
placed with a new design while the
left and the right designs inter-
change positions. Similar changes
occur from Problem Figure (3) to
(4) and from Problem Figure (5) to
Answer Figure.

71. (5) The following changes occur

from Problem Figure (1) to (2) :

Similar changes occur from Prob-
lem Figure (3) to {4} and from Prob-
lem Figure (5) to Answer Figure.

72. (2) The following changes occur

74. (5) From Proble

from Problem Figure (1) to (2) :

Similar changes occur from Prob-
lem Figure (3) to (4) and from Prob-
lem Figure (5) to Answer Figure.

73. (4) The following changes occur™™
from Problem Figure (1) to (2) :

lem Figure (5) to

the designs are arfanged in reverse
order. Similar ch@nges occur from

# Problem Figure (8) to (4) and from

73. (3) From Probl

~

Problem Figure|(5) to Answer Fig-
ure.

Figure (1) to (2)
the lowermost dgsigns move to the
top position a:
each row moyes to the right posi-

r

76. (2)

79.(5)?=36x15-

81. {4) 0

the left design of

tion. From Problem Figure (2) to (3)
the following changes occur :

From Problem Figure (3) to (4) the
lowermost designs move to the top
position and the left design of each
row moves to the right position.

From Problem Figure (4) to (5) the

82.

83.

895.

following changes occur: \ 86.
Y
® @ e o ®
L) (J ®
® L ® 87,

Therefore, from Problem Figure (5)
to Answer Figure similar changes
would occur as that have been oc-
curred from Problem Figure (1) to
(2.
420x36 35056

100 100
=?-94
= 151.2-196="7-94
= ?=151.2 + 94 - 196 = 49.2

7 7 2

77.(1) ? = 540X —= X — X —= 378

100 5 3

3 1
78. (3) {\/3_2 ] x (\/3_4 T+ (3%2 =37

= 33 x 32x5 .36 - 37
= 33+10-6_ a7
=37 =3=72=7

56 x 784

=540 - 392 = 148

80. (4) 28.314 - 31.427 + 113.928

=7 +29.114

= 110.815 = ? + 29.114

= ?=110.815 - 22.114

= 81.701
515 %22

?
o "33

?
= 113-43 = 55

/

]

9.

91.

o ?=70x%55= 385

. Required answer = 375

1600 x 200
50

= 6400 - 1400 + 3900 = 83’60

- Required answer = G000

(1) ? = 4434 - 2212 - 1134 +

3377 = 4465

-+ Required answer = 4466

2) 7= (14)2 - (15)2 + (18)* - 33

~ 196 - 225 + 324 - 33 = 262

~. Required answer = 264

M?2=8x6:9=5

(2) The pattern of the number

series is :

13+3=16

16 + (3 +3) =22

22 + (6 + 5) = 33

33+(11 +7) =51

51+ (18 + 9) = (78]

(3) The pattern of the number
SEres I1s &

390+ 1x13 =052
52+2x13=78

78+ 3 x13=117

117 + 4 x 13 = 169

169 + 5 x 13 =

{2) The pattern of the number
series is :

62 + 52 = 62 + 25 = 87

87 + 102 = 87 + 100 = 157
187+ 152 = 187 + 225 = 412
412 + 202 = 412 + 400 = 812

812 +(25)2 = 812 + 625 = [1437)

{1) The pattern of the number
series is :

2)?=

7+12=8
8+42=24
24 + 9% = 105

105 + 162 = 361

361 + 252 =

{1) The pattern of the number
series is

656 - 224 = 432

432 - 112 = 320

320 - 56 = 264

264 - 28 = 236

236 - 14 = [222]

(3)1L. 32 +8x+4=0
=3:2+6x+2x+4=0
=3x{x+2)+2{x+2)=0

S
- 1400 + 3500

B

&

S
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FAA X 5

= {x+2) (3x+2)=0

fx=-Zor-=
X or 3

me i dy? - 19y + 12 =0

1l

92,

V4

= 4% - 16y -3y +12=0
wrdyly-4-3y-4=0

=y-414dy-3)=0

3 .
LYy= 40[‘2' S
Clearly, x<y
4 L2+x-20=0
=2+ 5x-4x+20=0

= x(x+5}-4{x+5B)=0

=x+5){x-4)=0

L x=-5or4
ILyr-y-30=0
=y’-6y+5y-30=0

=yly-6)+5y-6=0

=(y-6l(y+5=0
L y=6or-5
Clearly, x< y

. (4) 1. x® = 365 + 364 = 729

X = 729 = £ 27
Iy~ J324 = .81
=y-18=8

=y =27
Clearly, x< y

B L 4+7= Jxxdx

=x=11
115/2

N7t

I % -

2+l
=y 2 =115
= P2 = 119/2
=y=11
Clearly, x=y
(5) 1. 22552 = 4

4 2

=#x3=-2—2"g::>x.—.i-l~5
IL J225y+2=0

= 225y = -2
Squaring on both sides,
225y =4

4
=2yY=oor

. (2) Tﬂcky_ai)—proach

Monthly salary of Raj

r

144 x60

= 12x100 = Rs. 0.072 lakh

1
- Anuj's monthly salarly X 5

3
= Raj's monthly salary XZ
= Anuj's menthly salary

= Rs, [0.072 x%x 5) lakh

= Rs. 27000

. (5) | Tricky approach

Present age of Ram'’s son
= xyears
. Ram’s present age = 3xyears
Ram’s father's present age
15x

= =5 Years

-

15x
SoX+ 3x T:46x3

=23x=46x3
=x=0

. Required difference

. (1} Tﬂcky appraz;c-h

Speed of the bus

480
==z = 60kmph
. Speed of the train

:60)(%:80 kmph

15
-+ Speed of the car = =X 80

= 75 kmph

.. Required distance
= Speed x time
=75 % 6 = 450 km.

. (2) | Tricky approach

If the side of the square be x.cm
then,
Tx 35 x 35 + x2 = 5450

:;%x35x35+x2= 5450
= x2 = 5450 — 3850 = 1600

Sx=A40em

PRefdfired sum =t x d + 4x ]

¢

-F

_ £x70+4x40)cm b
=\ :
seios 1
= 380 cm.

5

100, [Ty appreact]

Ifthe largest and the second larg-
est angles be 3x* and 2x°. respec-
tively then,
third angle = x 4
sox+ 2x+ 3x = 180°
= x = 30° r
.. Required sum
=x+2x=3x=90°
Calculation (101-105) :
Number of boys
1200 x 45
T 7100
Number of girls
= 1200 - 540 = 660
Number of girls visiting Mumbai
660 x 30
T 100
Number of girls visiting Dethi

A
r

=540

=198

= 660x%=264

Number of girls visiting Jodhpur

= 264 =132

«

Number of girls visiting Kolkata
2
- = 5(660— 198 - 264 - 132) = 44

Number of girls visiting Varanasi
=22

Number of boys visiting Mumbai

=300 - 198 = 102

Number of boys visiting Delhi

= 540xl:108
5

Number of boys visiting Jodhpur
= 540 x _il_O__ =216
100
Number of boys visiting Kolkata
114
=5 = 57
Number of boys visiting Varanasi
=57
101. {2) Required number of girls
= 198 + 264 + 22 = 484
102. (3) Required percentage
216 +132

= e x 100 = 132
264
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103. (1).Required average
_ 57+57+216 330

=5 "3 ° 110
104. (5) Required number of students
=22 +57=79

105. (1) Required ratio
=447 1G2 =22 : 51
108. {3) Average number of students

in 2006
y \
-{258+3+35% 4500
\ )
= 3000
107. (1) Required percentage
23525 100
3+35
= —5-—5- x 100 = 85
6.5

108. (4) The Lotal number of students
was equal in 2005, 2006 and
2007.

109. (2) Required average number of
studenis in school A

(l+2+l.5+2.5+3+245

P ]xlOOO‘

- _1_2_5_5_1,099 = 2090
6 .
11¢. (3) Required difference
=25+ 3+ 35~ 1- 2 ~2.5) thou-
sand
= 3500
111, {2) Army = 29 thousand
BSF = 26.9 thousand
112. (5) Required percentage

= 64 x 100 =22
29

113. {2} Average number of officers in
2007. :

24+36+18+47+58
5 thousand

= J§5—3 x 1000 = 3660

114. (3) It is obvicus from the table.

113%. (5) Required ratio = 0.9 : 3.9
=9:39=3:13

116. (1) Required number of all prod-
ucts

=(10+7.5+15+25+30+20) thousand

= 10750

117. (3) Average number of produced
pen-drives '

15+75+15+30+175

{

5 )thousand
= 17000

118B. (1} Required difference

= (30 + 25 — 15} thousand
= 40000

119. (4) Required ratio = 15: 30 : 15

=1:2:1

120. (1} Required ratio = 22.5 : 25

=225:250=9:10

121. (4) | Tricky approach

7x+ 2x +Bx + 6x = 360°

= 20x = 360°
360
= —=18
=X 50
7x
Required answer = 2 x 2x + -
- 15x 15x18 _135°
2 2

122, B) x+ x+ 1+ x+2+x+3+x+4 7

123.

124. (3

=270
= bx+ 10 =270
= 5x = 260
260
= x=—— =52

5 .
SX+1+Xx+4=2x+5
=2x52+5=109

(1) | Tricky approach

18 man =35 X 18 = 90 women
/1 man =5 women

. 4 men +10 women = 30 wom-
en

5 MD; = MyD,

=5x 18 =30 D,

5x18
30

=D, = =3 days

Tricky approach

If the length of the train be I me-
tre, then

Required ratio
L S S
T 54712x60

40: 3

12%. (2) Let the number be x.

y 600 EXz—SZO
e X x 100 3—

=x- 300 = 320
= x = 620

126.
127.
128.
129.
130.

(4) Rs. 16,500 crore

'
1)
(4) Only (A) and (C)

(2) Base Lendir& Rate System /‘ 'I
(4) Al (A),(B) angd, (C) b,
(2) Statutory glidity Ratio r
131.
132.

(2) Only (B)

(4) All (&), B and () [
133. (1)'}Mgmtary polij of!i'xe Cen-
) tra nk ofthe cou
134{(2)1»/Iqﬁ>i'fycles rry

135§ (1) To agtend SAARC Summit

136.1(2) om{ (B)

137. (4) Al (4), (B) and (C)

138. (1) He is Chief Statistician of In-
dia

139. (2) Only (B)

140. (2) Rupee is appreciating against
other currencies whereaj other
currencies are weakening against
US Dollar.

141. (5) None of these (State Bank of
India)

JZ (3) Geo-thermal energy

143. (4) To get elementary education

144. (1) had many NPAs

145. (1)IMF

146. (4) Only (A) and (B)

147. (1) Only (A)

148. (4) Sodium Sulphate

149. (4) All (A), (B)and(C)

150. (1) Mahila Kisan Sashaktikaran
Pariygjana

151. (3) Eastern and North Eastern
States

152. (1) Mid-Day Meal Scheme

153. (2) Antodaya Anna Yoj ana

154. (5) 17%

155. (2) Government of India

156. (4) 71 paise

157. (3) VHNDs

158. (3) Bundelkhand

159. (3) ASHA

160. (4) 37,000

161. (5) Love

162. (5) Tamil Nadu

163. (1) Prerna

164. (3) 22nd March

165. (5) Jawaharlal Nehru Award for
International Understanding

166. (3) HertaMuller

167. (2) Rock Star

168. (3) Bharati

169. (2) Badminton player

170. (2) BriyanViz

171. (4) Abhishek Bachchan
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172

173.
174.
175-
176.

177.
178.

179.
180.

181.

182.
183.

184.

185

186

(5) Australia

(3) new Chief of Armed Forces
(5) None of these (V.K. Murthy-
2008)

(2) Lionel Messi

(2) All (A), (B) and (C)

(4) Only (B) and (C)

(5) Technology - Reshaping the
Future of Education

(5) None of these

(1) Analyzing the strengths and
weaknesses of a student and
designing an educational syllabus
accordingly

(4) The education system is not
guided by technology and hence
the pace of learning is slow

(3) All (A), (B) and (C)

(3) One who freely and actively
participates in acquiring skills
and knowledge in a systematic
manner

(1) The meaning of the word Re-
ciprocal (Adjective) as used in
the passage is : mutual; involv-
ing two people or groups who
agree to help each other or be-
have in the same way to each oth-
er. .
Hence, the words interactive
and reciprocal are synonymous.
(4) The meaning of the word Par-
adigm (Noun) as used in the pas-
sage is : a typical example or pat
tern of something. ‘
Look at the sentence :

The war was a paradigm ofm

destructive side of hum nature
Hence, the words and
model are synony:

(2) The meaning o ]1Vd‘d L.l
tonomous (Adjecti¥e) as u

the passfgeis : independent %le
to do thin@s and make decisions

Withﬁ‘ help from anyone else

Hen words autonomous
Land in endent are synony-
mous.

187 (5) The me g ofthe word Del-
egate (Verbjas u in the pas-
sage is : to gilfe partiof your work,
power or aufhority to somebody;
to choose sgmebody to do some-
thing.

Look at the sentence :

Some man@gers find it difficult to
delegate.

Hence, thg words delegated and

assigned’are synonymous.

188.

189.

190.

191.
192.
193.
194.
195.
196.
197.
198.
199.

=
) %

206.

207.

(4) The meaning of the word In-
equitable (Adjective) as used in
the passage is : not fair, not the
same for everyone.

Hence, the words inequitable
and fair are antonymous.

(3) The meaning of the word Lan-
guish (Verb) as used in the pas-
sage is : to be forced to stay some-
where or suffer something un-
pleasant for a long time.

The word Flourish (Verb) means :
to develop quickly: to grow well;
thrive.

Hence, the words languish and
flourish are antonymous "
(5) The meaning of the d A
bitrary (Adjective) as
the passage is : not
reason, system or,
power without re
Hence, the wor
lawful are anto
(2) has pulled
(1) would hit
(4) Alarmed b;
(5) No correction required ¥,
(1) were at increased risk

3) learnt figure

(2“ periment, vouches
ate, dominated
(Ljgact, Thcrease
galore, ‘celebrate -
F 202. (4) D
(5)E 204. (1) B
(3)C

(4) The word Lately (Adverb)
means :
past.
The word Later means : at a time
in future.

recently; in the recent

Look at the sentence :

He had lately returned from Ja-
pan.

We are going to England later in
the year.

Hence, schizophrenia later in
life should be used.

(3) Here, preposition 'for' should
follow the word, honour'.

Look at the sentence :

He has been honoured with a

knighthood fortitlehiscientificwork.

208.

209.
210.

211.
212

216.
217.
218.

220.
221.
222.
. (4) affluent
224.
225.

Hence, for their contributions
in their chosen fields should be

used.

(3) Here, an Adjective should be
used which qualifies a Noun.

Hence, those unfortunate (Adjec L |

tive) beings (Noun) called forei
should ie used

ers, but . ..
(5) No error

(1) Here, He is th
ducer or He is o
producers. . . . . S,

(5) No error

.(1) He
shéuld ed
. (3) Here,ithgeaca
chilflren .

them turs;

t film pro-
of the fim
d be used. .I

i &esults fo*ld
ademic resvﬁz of

. (2) e even qﬁows past time.

Hence, ist rday, as most of

clusively on ...

d/up (simple past)....
should bemised.

. (1) Here The study focusing ex-

should be used.

Look at the sentence :

The discussion focused on three

main problems.

(1) shambles

(4)4stress
across
) consisted

(2) provide
()gap
(2) sea

(5) tremendous
(3) inequality
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